

PAGE CUST NO 1 of 1 1007589

INVOICE NUMBER

1718 - 91320088

(620) 672-1201

B HERMAN L LOEB LLC

62439

I PO Box: 838

LAWRENCEVILLE

IL US

o ATTN:

LEASE NAME

Т

LOCATION

Hinz 3-26

COUNTY

Barber KS

INVOICE DATE

10/25/2013

STATE I

JOB DESCRIPTION

Cement-New Well Casing/Pi

JOB CONTACT

ACCOUNTS	PAYABLE

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TERMS	DUE DATE			
40655090	19905				Net - 30 days	11/24	/2013		
			QTY	U of	UNIT PRICE	INVOICE	AMOUN'		
				M	:				
or Service Dates.	: 10/23/2013 to 10	0/23/2013							
040655090					•				
	• .					,			
- 171809381A Cámai	nt-New Well Casing/Pi 1	0/23/2013					,		
Cement 5 1/2" Long		0/23/2013	· · · ·		and the state of the state of				
- · ·		AND COMMENTS OF	<b>50</b> 3.08 3	. •	Strate sales The		111		
50/50 POZ	A hand on the state of the second of the sec	is become a company to the control of the control o	250.00	EA	8.25	an manadana	2,062.3		
Celloflake		•	63.00		2.77	-	174.8		
Gypsum			1,050.00		0.56	ř	590.5		
LA-322			105.00		5.62		590.5		
Silsonite		•	1,500.00		0.50		753.7		
Aud Flush			1,000.00		0.64		644.9		
CL Potassium Chlor	ride		566.00	EΑ	1.12		636.7		
Claymax KCL Substit	tute .		5.00	EA	26.25		131.2		
Latch Down Plug &	Baffle, 5 1/2"" (Blu	*	1.00	EA	299.98		299		
Auto Fill Float Shoe	5 1/2"" (Blue)"		1.00	EA	269.99	-	269		
Turbolizer, 5 1/2""	(Blue)"		12.00	EA	82.50		989		
5 1/2"" Basket (Blu	e)"		2.00	EA	217.49		434		
Unit Mileage Chg_(P	U, cars one way).".		45.00	MI	3.19		143		
Heavy Equipment Mi	leagess at the same		. 90.00	بــاM ر	5.25	l	_472		
Proppant & Bulk De	I. Chgs., per ton mil		473.00	EA	1.20		567		
Depth Charge; 5001	-6000'	,	1.00	EA	2,159.88		2,159		
Blending & Mixing Se	ervice Charge		250.00		1.05		262		
Plug Container Util. (	Chg.		1.00		187.49		187		
Service Supervisor,		:	1.00	EA	131.24		131		
1 - 4 ( )	: 3				PA	חו			
* *	•				1 [				
				:					
			<i>e</i>	~	OCT 3	1. 201 <b>3</b>	ř		
*			•		. 444				
•				. !	SCAN	INED	4. •		
Same of the			*, *	65y		AIALD	٠,		
N. 90 BC3					4 <b>니</b> :	441	1000		

BASIC ENERGY SERVICES, LP
PO BOX 841903
DALLAS, TX 75284-1903
BASIC ENERGY SERVICES, LP
801 CHERRY ST, STE 2100
FORT WORTH, TX 76102

SUB TOTAL

11,504.51

TAX INVOICE TOTAL

11,903.84

399.33

10244 NE Hwy. 61 P.O. Box 8613

### **FIELD SERVICE TICKET**

1718 ... A

Pratt, Kansas 67124 Phone 620-672-1201

PRESSI	JRE PUM	PING & WIRELINE	26-	329	5-141	N	DATE TICKET	NO			
DATE OF JOB (U ) 3	13 [	DISTRICT Pratt.	Tans	WELL &	WELL□ I	PROD    INJ    WD	W □ CUSTOMER ORDER NO.:				
CUSTOMER Herman L. Loob, LLC						LEASE HINZ WELL					
ADDRESS					COUNTY	Barb	er STA	TE Kansas			
CITY		STATE			SERVICE CREW MESSICH M McGray: D. P.						
AUTHORIZED BY							V Longstrin	· ·			
EQUIPMENT#	HRS	EQUIPMENT#	HRS	EQU	JIPMENT#	HRS		DATE AM TIME			
37,216	1.5					-		10 22 13 AMD 10 W			
77,686 :9,905	1.5					<del></del>	START OPERATION	O 23-13 PM 4'0.			
1 1,080,17,703	1.7	· · · · · · · · · · · · · · · · · · ·					FINISH OPERATION	(0 23-13 AM) 5 30			
19,831 19,862	1.5						RELEASED	0 23-13 WP 6 175			
1,000	, ,						MILES FROM STATION	TO WELL 45			

CONTRACT CONDITIONS: (This contract must be signed before the job is commenced or merchandise is delivered). The undersigned is authorized to execute this contract as an agent of the customer. As such, the undersigned agrees and acknowledges that this contract for services, materials, products, and/or supplies includes all of and only those terms and conditions appearing on the front and back of this document. No additional or substitute terms and/or conditions shall become a part of this contract without the written consent of an officer of Basic Energy Services LP. SIGNED: 1 1

(WELL OWNER, OPERATOR, CONTRACTOR OR AGENT)

	ITEM/PRICE REF. NO.	MATERIAL, EQUIPMENT AND SERVICE	S USED	UNIT	QUANTITY	UNIT PRICE	\$ AMOUN	٧T
P	CP104	50/50 Poz Blend Cement		5/1	200	\$	2,300	00
5		50/50 Poz Blend Coment		Sh	50	\$	550	0
	-					ſ		
P	CC102	Cellflate		Lb	63	- 5	233	0
5	CC 113	Gypsum		Lb	1050	5	787	50
٦	CC 129	Fluid Loss		Lb	105		<u> 787</u>	50
P	CC 201	Gilsonite		16	1500	<b></b>	1,005	00
ř>	C 700	HCL, Potassium Chloride		Lb	566		849	00
								ļ
2	CF607	Latch Down Plugand Battle	·, 5 /2'	ea	1	5		po
1	CF1251	AutoFilFloat Shoe, 51/2"		ea	1		<u> 360</u>	<u>                                      </u>
r I	CF 1651	Turbolizer, 512"	·	ea_	12		1,320	pc
P	< F 1901	Basket, 542"		ea	2		<u> '580</u>	20
				ļ. <u>.</u>				$\perp$
P	C 704	Claymax		Gal	5		175	CO
P	CC 151	Muá Flush		Gal	1,000	<u></u>	360	22
	· · · · · · · · · · · · · · · · · · ·					SUB TOŢAL		
	CH	EMICAL / ACID DATA:		T		4.		
			SERVICE & EQUIP	MENT		CON\$		4
			MATERIALS		%1A)	CON\$		
						TOTAL		
								1

SERVICE REPRESENTATIVE & M. SCOLE	THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY:	
	(WELL OWNER OPERATOR CONTRACTOR OR AGENT)	

10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

## **FIELD SERVICE TICKET**

1718 GETTE A

•	IG & WIRELINE	-14W		DATE	TICKET NO.	93	31							
DATE OF JOB	STRICT Prat	NEW D	OLD	PROD INJ	□ WDW	□ CI	JSTOMER RDER NO.:							
			Loob			LEASE H	Inz				WELL NO.	<u></u>		
ADDRESS			,			COUNTY Baybey STATE Transas								
CITY			STATE			SERVICE C			MMG			5.2		
AUTHORIZED B	BY							1 Longe			1			
EQUIPMENT	Г# Н	RS	EQUIPMENT	# HRS	EQ	UIPMENT#	HRS	TRUCK CAL	LED	DATE	E AM T	IME		
		-+		-	-			ARRIVED AT	ГЈОВ		AM PM			
								START OPE	RATION		AM PM			
						····	_	FINISH OPE	RATION		AM PM			
						······································		RELEASED			AM PM			
								MILES FROM	M STATION TO	) WELL				
products, and/or sul become a part of th	pplies includ	es all of	ecute this contract as and only those term e written consent of	s and conditions	appearing or	n the front and ba	ck of this do	cument. No addi		e.terms a	and/or conditio	ons shal		
ITEM/PRICE REF. NO.	_		ΓERIAL, EQUIPM			SED	UNIT	QUANTITY	UNIT PRI	CE	\$ AMOU	NT		
E100	Pick	up /i	lileage				_ M	45		\$	191	25		
EIO	Hea	vy E	gulphe	at Mile	2age		M,	90		\$	630	,		
E 113	BULL	) €	livery				t M	473		- 1	(56	00		
CE206	Call	2111	oump: 5,00 and Mixi tainer	olFeet	<u>To 6,0</u>	000 Feet	brs	4		\$	2,830			
CE 240	Blen	dirg	and Mixi	ry Seri	Vice		SIT	250		4,	350	00		
CE 504	Pluy	Con	tainer				<u> 700</u>	1		\$	250	00		
5003	<u>Ser</u>	VICE	Supervi	501			h15	B		5	175	<u>                                      </u>		
										+ +		-		
	f.													
			. •											
												+		
	<u> </u>						<u>,</u>		SUB T	OTAL	·	+		
CHE	EMICAL / AC	ID DATA	:							\$	11,504	<u>i 51</u>		
					L	RVICE & EQU	IPMENT		X ON \$			-		
					MA	ATEMIALS		%1A.	X ON \$	OTAL		-		
I														
										*		·		

THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY:

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

SERVIÇE --REPRESENTATIVE



# TREATMENT REPORT

energ	y se	rvic	e s, l.p.											
Customer (101 Ma	n L.L	oeb.	LLC. L	ease No.					Date		$\overline{}$	$\gamma = 1$	7	17
Lease	12	. 1		Vell # 3	3-26					_ (	1-0	1.	) _	$L \mathcal{O}$
Fjeld Order #	Station	Pratt	. Kan	Sas	Qasi	为15	-Depth	4.998	County,		Ва	rber	State	ansas
Type Job C .	N. W		strin			F	ormation	T.			Legal De	scription -		W
PIPE [	DATA	PERF	ORATING	· PATA Y	† FEET	D USE	D		TF	REAT	MENT F	RESUME		
Gasing Size 5.	Tubing Size	Shots/F	2005	achs	50/50	Poz W	ith	2868	ATE	PRES	SF lu	ISIR	55.5	3 HCL.
Pepth 98F	Depth	From		.1.5h.c		alter E	Lb./	54. G	$\overline{}$	nit	6	5 Min.		,
	Volume	From	то Т	416.	-	436		.A.4:			T/s/r.	10 Min.		
Max Press	Max Press	From	То		Ellaic '			Avģ				15 Min.		
Well Connection	Annulus Vol するしりです	From 5	Osazoh	550/	50 Poz	to Plu	ig Ra	HMP Used	actr)	and	Mou			is) holes
49/810	Packer Dep €1	From	То	•		3.5 Bk	1. 29	Gas Volume				Total Load		
Customer Repres	sentative (	an 🖾	Vratil	Station	Manager 1	evin	Gor	dley	Freate	are	nce	R. Me	5510	:hr
Service Units 3	7216 -	77,686	19,905	19,83	31 19,8	62		•						
Driver Names M € 5	sich	Mc	Graw		Mye									
	Casing Pressure	Tubing Pressure	Bbls. Pum	ped	Rate					Servic	e Log			
1000	10.22				Coment	er and	PUM	otructo	onlo	cat	tiona	nd hole	l Sat	ety meet in
11.15	stelli	rg Pr	illinge	start	torur	1 A Ut	o Fill	Float	Show	<u>e, 5</u>	hoe .	Foi At L	vit	n Latch
C	own 1	Baffl	e 5010	wed	intoc	olla	ran	datot	<u>alof</u>	11	7 Jou	nts neu	15.	SLLIFA
5	5/2" car	sing. A	Basti	>+ W0	15 INST	all ed	aloc	ve Col	1015	#1	4ard	#18	AT	UI 60/130
	vasin	Stalle	donce	2(10x 5	#1,3,5	7, 9,1	3,17	31,29	5,29	<u>, 33</u>	and #	-35		
1:30								nt on						<u> </u>
	\$650						-	,				-		inutes
405	,	<u>2,000</u>				5	, ,	1 /					Test	Openwall
408	500				6			Frash						
			15		6			MudF						
4 25			39+1		6			Mixing						
-	-0-		102	}		<u> 5</u>	topf	NADIK	<u>i. Sh</u>	ut i	ruell.	Wash	pur	np and
						11	nes.	Relea	SeL	<u>atc</u>	h Dou	m Plug.	Ope	n Well.
442 1	50				6,5			28/to			lacen	<u>ent</u>		
			<u>83</u>		5_	1 _		01110	ene	·nt				
	500		118.	5		1 -		own.				·		
	500						<u>e550</u>	re up.		<u> 1</u>	· <u>- l</u>	1	1 1	<del></del>
			<del></del>			No.	leus	a prims	ure.	1 10	<u>pat 211</u>	oe ne	10.	<u> </u>
			7.5		3		,	it and N			165,			
								P PUM P		h				<del></del>
6:00				_				ompleto	୧					
10244-8	NS Hiws	v 61 o P	O Roy	2612.a	Pratt, K			4 You.	672	120	1 • Eav	(620)	372-	283
10244 1	AL LIIMS	y or or	.U. DUX	0015				3 (020)		TZU	т гах			0303